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Trigonometric and Hyperbolic Curves

Sine Cosine
y = sin(z) y = cos(x)
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Inverse Sine Inverse Cosine
y = arcsin(x) y = arccos(x)
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Cosecant Secant
y = csc(x) y = sec(x)
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Lsee also Basic Curves
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Tangent
y = tan(z)
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Inverse Tangent
y = arctan(x)
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Cotangent
y = cot(x)

6
44

24

ASC (March 23, 2021)



UNBC

Academic Success Centre

250-960-6367
wiww. unbc.ca/fasc

Hyperbolic Sine

y = sinh(x)
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Hyperbolic Cosine
y = cosh(x)
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Hyperbolic Cosecant

y = csch(z)
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CSCh(Z‘) = sinﬁ(w)
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Hyperbolic Secant
y = sech(z)

Hyperbolic Tangent

y = tanh(x)
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y = tanh(z) = cosh(z)
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Hyperbolic Cotangent
y = coth(x)
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